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Q1: Circle the right answer for all of the following: (50 points)

1: If a gas has polar particles then the difference betwe
Answer: a) Vreal > Vperfect Real < Ve

2 volume of this gas is: ‘
] Vit = Voo d) Vieal # Vperect
<

2: A gas occupies 60 x 10° mL at 150 °C and 760 m
Answer: a)38.7 mL @8.7 d
=

ig ure. What would be its volume at STP? =
S - 4¢)38.7 L1 d) 38.7 dm?
. 3 A

gﬂ:alculate the weight of H20 gas (18'g.mol?) i
nswer:  a)29.40 g mol? Q 9.40g  ¢)29.40mol  d)29.40

@alculate the densi

{ Tacedin a 22400 mL cylinder at 10° Pa : R
/ b),o 804glL? c)0.804¢g d) 0.8041 O )

Answer: ).804 C $

R % [ /
5: According to Graham’s la heawest asis? ' (/@ "
Answer: a) H,0 0 ) NH3 d) Ch = ' 3

(L 2 P
O tank contains a certain ) amount of gas at 10° Pa. The gas is transferred to anothe m? with pressure
of 200 x 103 Pa. Whax/sﬁould be its volume? =

Answer: @ BO.L 5 _~h) 80Pal ) 80 Padm® d)soL?

N
7: According to Be thepressure of a gas is inversly proportional “Cj \

Answer: )T c)R d)V ejn ([ &
\ =
T e e
8: The difference between real and ideal gas, that the real g /y terested m‘}l
Answer: a)vV&p b)V&T d)T&p

Answer a) Van der Waal b) Graham c) Charles

10: The behaviour of real gas is ideal yhe Zis eau\al to
Answer:  a) Vi< VO, / €) Vin = VO, d) Vim # VO,

/

Q2: The following data have been observed for 8 g of nitrogen gas at 273 K. Calculate the best value of the
molar mass of N2. | p/10°Pa 0.750) | 0.500 0.200 | (25 points) i T
V/dm3 3.0 4.5 7.0

Q3: A perfect gas undergoes isothermal compression, which reduces its volume by 1.80 dm?3. The ps and Vs of

the gas are 2 x 102 kPa and 2.14 dm?, respectively. Calculate the poriginal Of the gas in (i) bar, (ii) torr. (25 points)

Thur_11/11/2021 Best wishes Dr Abduljabbar . R. Rushdi
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